1. Guwdifau Sicll 1 icilfid =il ?
(A) AUBRs uEAHD adl Glod 33812 (B) w5 uBuL 210100 ayaldl Hulel
(C) UAMLs uBUL 20100 a4dl-dl dol (D) WAABLs uBEa-l GudlBidl
qatet (C) uafis wlEu 2uan aual 4t
o Guosueel A0S UEAKL A0 e sy quag Al A Bl astad, uEAHL wsadl v eusdl GuR
MM AN B, WEAL £2 A usHdl sdlal Gur wume ws 9.
2. oRacicll sl [Gensdl ARl O ?
(A) aiddl wAdl wEAml ool ddi vesidl sl vedl ueudl sda.
(B) oitutdi usudl 24 vafaa a2 Goddl [@RHy asd ot 9.
(C) siur (diow)-l olawmni uBusi-l el ola usudld Gelsal ©.
(D) aHlA gaRs adl st valgsels Ul uBaslHl el ol usudldl MEa 82 8.

caiet (C) s1ur (diot) ofauni uBasil sixdl oin waudly Geisaa ©.
gyl W suddl et weuelal gl [ARHa wsudl wid udlazer 928 wdl Al uig ussdl gladl a2
alsadl [QFmy a6, oiusall ojamendldl ear uEAs 24 adln garsHi-u UBus (Rl {solated)
weudldl Rze 53 .
3. arell dazen ool sl Riciel a3 aeidl asia ?
(A) eoUBl, 58 i dluHld (B) dluHLd, %2l solldl
(C) w2al, 5% i dluMid (D) sollel, 5%, dluMld, el
qalel (D) 86181, 58, MMM, el
iyl REMAA Al eousl, 56, dluMIA A oL Al Assl A ©,
il Ay wHls@ PV = ART &, %4l PV, T 21 n usudldl sarad, Mgan 52 9.
4,  dRlei SE YO SE S VisE saABi A QAR [ARre Guikii 2l $s$R AA ?
(A) 14l 2Ll 28, (B) Glowgil qusl. (C) siS 38R [, (D) AR 2Rl a4l 28l.
cast (C) 518 3251 -,
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o Hop seAl uwHRlME Ayl sl aasHl weldl udl. R [ale Gwid uMIeL A0 89

-

o [alare Gwu [Alre (intensive) sy w1d 8 % Ayzyw wsueldl UsR Gu MR AV S,

5. 13Md oYeeloi 2Ayeieec A1 AR 2658 (5.9a Gui }sd arl 8. Gui WARAMIS U221 «iRlati wilseD GI1
elaia 8.
(A) 2C4H, g + 130,y — 8CO,g + 10H,0)A H = ~ 2658.0 (5. let™!

13

(B) CyH g + - Opg = 4C0,q + SH,0AH = — 1329.0 (5.9 e

1
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(O) CyHygp + & Oy = 4CO, + SH0AH = - 2658.0 B ¥l

0O
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(D) CyHygq + & Oy — 4CO4 + SH0AH = + 2658.0 (5.9 et
vaet (C) CyHyg, + 33 Oy = 4C0, + SH0pA M = — 2658.0 (5.4 Hia!
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1 Mla o2 dyel eeddl Gwiuas a8 yora 9 ¢

13
C4H10(g) + B} OZ(g] — 4C02(g) + 5H20(Q
il 1 " CH o dqel e salef 8. %3l AHG 3ed s (-) ¢ld AS2 2 dd Hed 2658 (5.ya
dal g,
Fidotoll [erfer Gwied 3e (AfUO) (Gaa amsid) -393 B.ya Na! . AfHOo\g el Seq & ?
(A) LA (B) < AfUO ©C) > AfUO D) = AfUO
(B) < AfUO
ulFw : CH

ag) + 2091 = €Oy + 2H,0(,
An(g) = (np — nr)g = ]_ — 3 = —2
0_ 0
AHfH = AfU + An(g) - RT
'LR.(:L An(g) = -2
0 0
AfH < AfU
0wl ulsapi Guurilsded uendl i walazer a2 f(Aloria ad oRil. vued darRgen wRel #2 oilAcwpiiedl
ARD [Asaur uie sA. (SSR N D))

A g=0 AT#0, w=0 Bg#0 AT =0, w=20
(C)qZO,ATZO,LUZO (D)qZO,AT<O,LU¢0

(Cg=0, AT=0,w=0

Yo UAUWL HIe w = 0 uHIB usy M2 g = 0.

AU =g+ w =0 > zald & % 2AidlRs Glof yeu 2um e 69,

o AT = 0 ueel agHl Midrsdly »usder dig el.

w13 Ayl [Raid uRREEMD adis 3231 (MaRe) iy IR 3wy, v & Gaasd ag sl 5122 3 g
£921 ulsal Hie stiesid ag el

el ary w2 eonel A se sRicll deiadl ool Wilserell GuAdL 53 SaABE A B.

'f
we=- Ipexdv siicll deiadl P-V 3udui gl uer sil 2Asre 8. i "R d5 ool [Grdr ([ARre sEdil

yaleri) Aapi 21d 3. AR ueA arRy Gur eonel daraki A AR (a) As ¥ dgl [Eawi (b) Aol
G i (V; —>Vf azs) srl a1 8. ¢ A W2 AR [sar e2ila.

(A) w (reversible) = w (irreversible) (B) w (reversible) < w (irreversible)

(C) w (reversible) > w (irreversible) (D) w (reversible) = w (irreversible) + p, .AV
(B) w (reversible) < w (irreversible}

2§l SR8 B B 5 a5 AL @R xal ay suldadl i 9. soner A dsdl adgs sudvml A
AsU 9.
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P-V »lau gollel 2aa ol 2 a3xidd se VAl 9agq s¢ Vi et [Alad cewssiil Asluaal ay Guz
ade s1d (wasied [@eiz a3 eule) §.)

P

Ve 58 (V) V;

PV 20dm iz ousl »o el v tdid detsstl nRadl wRRERH agsid Vel dde s Ve Gur
ade s (ssifed Rz a3 ealey ©.)

Aoghil §25Rci U oildonl 2wilseiel GuA1 sélal 2Maarii ud d. AS = queV AR SRIcll ubiHi dldda

ueiloj crRgYi uRadel wa car i Gl add «Rcpidl ARQ [Genc wie 52
A) AS(manel) a2 &, uig AS(uulaze)di SIS 33312 udl -l

B) AS(maudl) ad 9, uig AS(uulaze) w2 &.

(C) AS(meudl) vz 9, uig AS(uulaze) af ©.

(D) AS(uaudl) 82 &, 2 AS(uufaze) uel 82 .

(C) AS(uauell) a2 8, udg AS(uaiarw) ad 9.

w13 stunAl WMl el ol o 8 R AS(uendl)ui vaidl iy 8 szl 3 ualdl ulelldl gl oz
2l Gl 9. d Guid R well (madl)d ozs (d)Hi ulRadq A i G Yaa iy . % ualazer il
A 9. el sus didiasl (afaze)didl seadld awsl oy @,

<l GurRriRICGs wilsen (1), (2) v (3) c2ulcn 8. i sl Wwilseri cilodifPidll Riciar Mo a
€lda 8 ?

(@) C (3lslg2) + Oy = €Oy A, H = x Byd Na !

~ 1 _
(b) C (ausiw2) + 50,y — COg; AH =y B.ya Nal

(c) CO, + loz(g) — €Oy AH =2 B.ya el

2



A z=x+1Y Bx=y-2 OQOx=0+2 D) y=2z-x

et (C) x = (¥ + 2)

e uBuMl ollgonfbidly el -2 yow 9
Aflse (a) — wdlsma (b) = alse (o)
(@) CEASE2) + Oy — COys AH = x (5.9 Hiat
(b) CeLse) + %Oz(g) — COyy A = y [ooga ia!
(c) CO(g] + %OZ(g) — COz{g); AH =z [5.a Wal
X —y=z¥Udl X =Y+ 2z
11. <A e2alda wilsedd ¥l dl. i1 20ilselad wmaR (a) 2l (b) [dsaddi Ndl s cilevaulGidla
oied gl B ?
(@) Ceg) + 4H) — CHy; AH = x B.ya Nal
(b) C(3lsig2) + 2H,) — CHy; AH = y B.yd Na !
A x=y B) x =2y QG x>y D) x<y
qaet (C) x> y
o elsRe (1) A wdlsva (2)ul edls uMIA elud (Buin ad sigy ud 6, uig uslswa (DL s sid deal
Aol wlsza (2)ul ulBusiqL el o4 gedl MigH Ul 6§,
o ojgi ufstid sllel adi et g2 9 i alsud s Wy 8.
dlsrer (DU dsd ada alsa wdlszel (2)u0 4sd g9ld wlsd sadl a4y &, o x > y
12. dcdlell wHiGId a\ioaueiloi HEL 2o dlearii d B. iAMevololl [opiler Jicenail .....
(A) 32l (5) Y& w1 9. (B) dxal (+) ¥& 4yd ©.
(C) 4 (+) Audl B () Heu &l us. (D) sel BRA (-) Yeu quag -dl.
qaiet (C) 4 (+) Al B (-) Y €l ud.
mdqradl eedlFul s adl ulEuar Gwisius 3 Gwsing Sl ad.
eld.,
C + 0, »C0, ubu 5wdus &.
C + 28 —> CS, ulsu Gwsilus .
el [HleL el qed dd (+) A ossel (5) el as,
13.  uerkloll Geduidel icenall «MAsu (A), (B), (C) ia (D)uidl s)eil WdR B ?
(A) st senedl + ol vl (B) 2la- i-eedl
(C) oy i-enedl (D) sy enedl sdi 6 a1y
el (A) e sreell + simun el
m oyl Gleduian vienadld yed = s sieedl + esyiu- sieadl,
o Gleeyidd WBML aA usield ey RARHD A8 Y @ uRadd iy @ (B man - eud o)
Hit o % UMl d-ll (A% sl
g — Haldl — aly,
g — HaldlHl ulRadq exl®an sidq w-enedldl 3wl 9.
ualdl — aiy REuAUl ousuanq s-enedldl %32 uy 9.
14,  olRlciiiell s [(Aenot AR ot2il ?

A) uladl uBu w2 AG = 0
(C) @R uEa we AG = (1)

ool (B) wMEd wlEa we AGY weu = (+)

(B) 2adRd uFul w2 AGY &t = (+)
(D) 14l (non spontaneous) UB3ulL 42 AG = (+)



iy

AGH, Y 2y e6l18l 2 diuMid @iRd (spontaneous) MEuL W2 g (criterea) :
(i) 2 AGd 4t (-) el dl UsH @URa o 89,
(ii) o AGt Med (+) €ld dl UsH AR oinidl -2l

(iii) 2 AG = 0 €ld dl Ul =iglad R b4ud 8.



